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Part A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- Currently 80 percent of drugs are shot down in early clinical trials because they are not

effective or are even -—---—-- .
1) intense 2) initial 3) toxic 4) prior

2- With such rapid advances in the field of human transplantation, researchers such as myself
are now beginning to consider what some have previously --------- unthinkable: transplanting
a human brain.
1) deemed 2) pursued 3) perplexed 4) excluded

3- Weather forecasters are a frequently humbled bunch. No matter how far their science
advances, the atmosphere finds ways to --------- prediction.
1) underlie 2) defy 3) expose 4) strive

4- Many armed groups ---—----- mix with the population to avoid identification. Sometimes they
actually use civilians as shields.
1) inherently 2) coincidentally 3) persuasively 4) deliberately

5- After receiving a phone call that a bomb had been planted somewhere in the hotel, Police
ordered the ---—---——- of the building.

1) resistance 2) evacuation 3) authority 4) invalidity

6- Cosmologists, however, can make --—----—- about the early universe based on the cosmic
microwave background radiation, which was emitted about 400,000 years after the big bang.
1) concessions 2) ramifications 3) foundations 4) deductions

7- The fact that there are many earth-like planets in the universe supports the widely held view
that life --------- the universe.
1) pervades 2) innovates 3) exemplifies 4) overlaps

8- Centuries before the development of effective cannons, huge artillery pieces were demolishing
castle walls with --—------- the weight of an upright piano.
1) estimations 2) ensembles 3) barricades 4) projectiles

9- People in their late 90s or older are often healthier and more ----—---—- than those 20 years
younger.
1) civil 2) durable 3) robust 4) concurrent

10- One of the first prominent geologists to raise concern that global warming might --------- a
catastrophic collapse of the Antarctic ice cap was J. H. Mercer.
1) trigger 2) negate 3) exceed 4) replace

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Or caloric restriction mimetics grew out of our desire to better understand caloric
restriction’s many effects on the body. Scientists first recognized the value of the practice more

than 60 years ago, when they found that rats (11) ===mae-e- a low-calorie diet lived longer on
average than free-feeding rats (12) -=====--- a reduced incidence of conditions (13) =-------- .
What is more, some of the treated animals survived longer than the oldest-living animals in the
control group, (14) ==emaem-- that the maximum life span (the oldest attainable age), not merely
the average life span, increased. Various interventions, such as infection-fighting drugs, can
increase (15) ==mem-mn- , but only approaches that slow the body’s rate of aging will increase the
maxtmum life span.

11-1) feed 2) they were fed 3) fed 4) feeding

12-1) to have 2) had 3) in having 4) and had

13- 1) in old age they became increasingly common
2) that become increasingly common in old age
3) becoming common in increasingly old age
4) they became in old age increasingly common

14- 1) which means 2) but means 3) it means 4) what it means
15-1) the average time in survival population 2) a survival population average time
3) a population’s average survival time 4) the survival time in average population
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Reading Comprehension

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits
each space. Then mark the correct choice on your answer sheet.

PASSAGE 1:

The death of Ibn Rushd (Averroés) effectively marks the end of a particular discipline of
Islamic philosophy usually called the Peripatetic Arabic School, and philosophical activity
declined significantly in western Islamic countries, namely in Islamic Spain and North Africa,
though it persisted for much longer in the Eastern countries, in particular Iran and India.
Contrary to the traditional view, Dimitri Gutas and the Stanford Encyclopedia of Philosophy
consider the period between the 11th and 14th centuries to be the true Golden Age of Arabic
and Islamic philosophy, initiated by Al-Ghazali's successful integration of logic into the
Madrasah curriculum and the subsequent rise of Avicennism.

Since the political power shift in Western Europe (Spain and Portugal) from Muslim to
Christian control, the Muslims naturally did not practice philosophy in Western Europe. This
also led to some loss of contact between the 'west' and the 'east’ of the Islamic world. Muslims
in the 'east' continued to do philosophy, as is evident from the works of Ottoman scholars and
especially those living in Muslim kingdoms within the territories of present day Iran and India,
such as Shah Waliullah and Ahmad Sirhindi. This fact has escaped most pre-modern historians
of Islamic (or Arabic) philosophy. In addition, logic has continued to be taught in religious
seminaries up to modern times.

16- What would the possible topic be for the above passage?

1) Philosophy in Western Europe 2) Golden Age of Arabic Philosophy

3) Islamic Philosophy after Averroés 4) Western Islamic Countries Philosophy
17- According to the passage, the Peripatetic Arabic School of thought ------------------ .

1) began with the death of Averroés

2) ended a particular discipline of Islamic thought

3) declined philosophy in western Islamic countries

4) weakened philosophy in eastern Islamic countries

18- What does itin line 4 refer to?

1) philosophical activity 2) Islamic philosophy

3) the death of Ibn Rushd 4) the end of Islamic Discipline

19- One can infer from the passage that the period between 11" and 14™ centuries ---------
according to the traditional view.

1) are the true golden age of Islamic philosophy

2) are not the true golden age of Islamic philosophy

3) Avicenna successfully integrated logic into the Madrasah curriculum

4) Avicenna did not successfully integrate logic into the Madrasah curriculum

20- If the author is right, then most pre-modern historians of Islamic philosophy -----------
the fact that Muslims naturally did not practice philosophy in Western Europe.

1) completely acknowledged 2) completely explored

3) totally described 4) totally ignored



M)'@vl.w)lfup)l (e colw g S o

¥ axio 604F i b

PASSAGE 2:

Kalam is the philosophy that seeks Islamic theological principles through dialectic. In Arabic
the word literally means "speech". One of first debates was that between partisan of the Qadar
(Arabic: gadara, to have power), who affirmed free will, and the Jabrites (jabr, force,

constraint), who believed in fatalism.

At the second century of the Hijra, a new movement arose in the theological school of Basra,
Iraq. A pupil, Wasil ibn Ata, who was expelled from the school because his answers were
contrary to then Sunni tradition and became leader of a new school, and systematized the
radical opinions of preceding sects, particularly those of the Qadarites and Jabrites. This new
school was called Mutazilite (from 1'tazala, to separate oneself).

The Mutazilites, compelled to defend their principles against the Sunni Islam of their day,
looked for support in philosophy, and are one of the first to pursue a rational theology called
[Im-al-Kalam (Scholastic theology); those professing it were called Mutakallamin. This
appellation became the common name for all seeking philosophical demonstration in
confirmation of religious principles. But subsequent generations were to large extent critical
towards the Mutazilite school, especially after formation of the Asharite concepts.

21- What does the passage mainly discuss?

1) Scholastic Theology in Islam 2) Mutazilite School of Thought

3) Free Will and Fatalism in Islam 4) Confirmation of Islamic Religion
22- According to the passage, one of the first debates was that between the
of the Qadar and the Jabr.

1) adversaries 2) opponents 3) parties 4) supporters
23- One can infer from the passage that Mutazilite
1) systematized the then Sunni tradition of philosophy
2) expelled Wasil ibn Ata from the theological school of Basra

3) was introduced by Wasil ibn Ata who was against the Qadarites

4) emerged in the theological school of Basra to support the Qadarites

24- The term Mutazlite comes from i'tazala, because the advocates of this school of
thought -----------——---

1) joined the Qadarite school of thought

2) joined the main Sunni tradition of philosophy

3) separated themselves from the Qadarite school of thought

4) separated themselves from the main Sunni tradition of philosophy

25- If the author is right, then Mutazilites were engaged in philosophy and called
Mutakallamin, because they were forced to
1) support the views of the Sunni Islam using philosophy

2) defend their views against the Sunni Islam using philosophy

3) seek philosophical demonstration to refute religious principles
4) seek philosophical demonstration to confirm religious principles

PASSAGE 3:

There is a historical and traditional connection between Christianity and Islam. The two faiths
share a common origin in the Middle East. Muslims consider Christians as the People of the
Book. From a Muslim standpoint, belief in the Injil (the original Gospel of Jesus) is an
important part of Islamic theology, although Muslims view the current Gospels as corrupted.
The bond extends even further with the Islamic Prophet Muhammad instructing Muslims to
defend the Christian faith from aggressors in certain circumstances after treaties of peace have
been signed, such as in the document called the Achtiname of Muhammad.
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Furthermore, Islam and Christianity share at their core, the twin "golden" commandments of
the paramount importance of loving God and loving one's neighbor, although the
interpretations of these statements differ greatly between the two traditions, and, indeed, vary
between all three Abrahamic religions.

Despite the similarities between the two faiths there are some major theological differences.
Islam denies that God can be divided into a Holy Trinity. Muslims consider this division of
God's Oneness to be a grave sin (Shirk). This difference, though, signifies a fundamental
misunderstanding between the faiths. Christians also consider it heretical to deny the oneness,
or unity, of God. Their articulation of the Trinity holds in tension the paradox of both the unity
and Trinitarian diversity of God as one God who is three Persons. Islam also denies that God
has a son. Muslims see Jesus as the last prophet sent to the Children of Israel like Elijah. Islam
fully accepts Jesus as the Messiah.

26- What does the passage mainly discuss?

1) Achtiname of Muhammad 2) Christianity and Islam

3) Original Gospel of Jesus 4) People of the Book

27- Which of the following is NOT true of Christianity from the view-point of Islam?

1) The original Gospel of Jesus is a part of Muslim belief.

2) Christians are regarded as the People of the Book by Islam.

3) Belief in the current Gospels is an important part of Islamic theology.

4) The present Gospels believed by Christians is corrupted according to Islam.

28- According to the passage, Islam and Christianity both believe that one should --------- .

1) love gods and prophets 2) love God and one's neighbors

3) interpret statements differently 4) interpret statements in the same way

29- It is mentioned in the passage that deny the division of God into a
Holy Trinity and deny the oneness or unity of God.

1) Muslims — Christians 2) Christians — Muslims

3) Jews — Muslims 4) Muslims — Jews

30- Which of the following is NOT true of Muslims?

1) They deny that God has a son.

2) They acknowledge Jesus as the Messiah.

3) They believe in one God who is three persons.

4) They regard Jesus as the last prophet sent to the Children of Israel.
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